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DEPARTMENTAL EXAMINATIONS

GENERAL EDUCATIONAL TEST OF THE S.S.L.C. STANDARD
PAPER - II - GENERAL KNOWLEDGE

(Without Books)

Maximum Time : 2.30 hours Maximum Marks : 100

- IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eflfleurar allenLwefl&@b cuens allarrggmer

Read the following instructions carefully before beginning to answer the questions.
ellerés@nd@ e walds GsTLmi@Gh e SpssaTL Dle@ramaer SaUATONS Ll S&aLb.

|8 Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.
eflensenar @GBLIGL Rerer cramanlisamssEs sifswrs audulminlearn, e ggrafiar @mduda
o ater oifls aamafismsiionar ellaLsdr wAHUSH CauwliuLng.

23 In case of doubt, English version is the final.
eflamésefier spCssmUdar mfle augeld QarhssuulHerer efamssCar @mdwirarsg.

SECTION A

LES i
Note : (i) Answer any SIX questions.
aeaGuigy b 2m eflamés@sss e weaflléseb.

(i1) All questions carry equal marks.
eréver eflemmésEnn &0 wHIGUMTSET 2 anLwiar.

(i) Each answer should not exceed 100 words.
geuCeunmp famelp@n 100 curigamss@ns@ Wamod eflenwalssab.

I. Answer any six of the following : (6 x 4=24)
Yemaumeuareupdled eranauGuignd Meis@ edlanweflGsab.

1. Why is tungsten metal used in bulbs, but not in fuse wires?

erafleny efletg@safler Lmever LwaTLHSSLILGEDE yarmed flar 2w Eevpwirs
Sigmer LWL HSgeuHoena. erer?
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What is aqueous and non aqueous solution? Give an example.

Brssamred wHnb BrHom samrsd aarnrd aarar? aHSHEET(H S(HS.

Define :

(a) Pulse

(b) Blood pressure.
euenwIy

(<) prgdsiaiy
(<) @765 SA(WPssd

James has a dining table, circular in shape of radius 70 cm, whereas Arun has a

circular quadrant dining table of radius 140 cm. Whose dining table has a greater

area? (7; = g) ;
fi

Ggbav eremueuit 70 Q&8 syreperer el euges 2 amey Cangwb, S(HERT ereTLGuT

140 Qe.5 yyaperer sTéeul L eugel 2 ey Gensyld eeugglererart erafled, wmmen_w

2 awra GCuwens flsls urriLeTaneud Csmea(HeTerg) ? (n‘=%]

Describe the Pearl Harbour Incident.

W85 senups Hlanpenea efleur.

List the social evils eradicated by Brahmo Samaj.

GTiby FLTRESTD REEEILL L. FAPGSSMDSGET WTEnEU ?

Write a short note on Deccan Plateau.

saamenr L0 — @Huy euenrs.

What are the qualification for the appointment of Governor?

< EpErTe Hlublssiu@eshstar sEdadr wree ?
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II.

10.

11.

12.

13.

14.

15.

SECTION B
UGS <

Note : (i) Answer any SIX questions.
creaCuayd m amésEréE slle wefl&say.
(i1) All questions carry equal marks.
coer alamés@sn &0 wHLCuSTSET 2 L war.

Answer any six of the following : (6 x 6 =236)

Gemeumeuaraupler erancuCuignid Mense e weallssayb.

What are the main objectives of the new agricultural policy?
ydw Ceuernar Qararenssarear W& GH&ECaTarsdr wrame ?

Explain the powers and functions of Chief Minister.
pswmwieflar sfarraser wLHmIL uaflsdr wWremal?

Describe the forests of India.
@pdw srhsdr upPl efeuflssab.

What do you know about the Non-Cooperation movement? Explain.
gssi@puraw @usshd ubhd el sifleuar wreel? aleurl.

(a) What is Transpiration? Give the importance of transpiration?

(b)  Mention the factors affecting transpiration.

(@) Brredy Gumée eampre eraar? Hrredll Gunsdler WEAUSHUSDS (PSS
(<) Byred Cursdleer LTdéEn snmeiladr UDD eT(WES.

Explain the nuclear power plants in India.

@bdw &J@IL{)}G&T Bevawriiser updl ellfleuns erpseib.

(a) What are the advantages of LED TV over the normal TV?
(b)  List the merits of LED bulb.

(@) srsmew Qgmeessr Al Quigew ofL LED Qgreessn dl Quiguierme

FgHUBID HETENLOSET WTenel ?

(<) LED efersdlen penenaaar L iqwel(s.
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Note :

SECTION C
uad 9

1) Answer any FOUR questions.
craaCugyb prenE alamssEnss e wafsseab.

(ii) All questions carry equal marks.
arovar elamss@sd Fo wHUCUETSET 2L war.
(iii)  Each answer should not exceed 250 words.

galanm edamedp@n 250 amismss@nsd Wamod elamLwefésaib.

III. Answer any four of the following : (4 x 10 = 40)
QereumeuaraupBler crancuCuigd premdlgiés ellen_weflEsab.

16.  Discuss the main causes of the First World War.
Wpsd 2 sGummHEsTer WPEHAWE STTERTAISET WTenel ?

17.  Give a detailed account on the basin of Ganga.
srms hn aglon @hss flauns awas.

18.  Explain in detail about SAARC.
griis updH ellfleuns er(psaLb.

19. (a)

(b)

(<34)

(<)

A cylindrical drum has a height of 20 cm and base radius of 14 cm. Find its
curved surface area and the total surface area.

The curved surface area of a right circular cylinder of height 14 cm is 88 cm?.
Find the diameter of the cylinder.

e o mever augeuls Suum@er 2wyb 20 Gs.8 LHPL SigluD HTD 14 Qs.8
erafled, igen eueneTUTLIL] WHMIL CrFst YPULITUMUS STEs.

88 Qa.8 euevertiLFiL@LW @ Coieur L o woendar ewybd 14 Gs.8 aaflo,
2 (penerudler Sl 1b sres.

20. Explain some direct and indirect taxes.
fa Cpiiaps wHHIb wepps cuflsemar allarsEs.
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